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The first monthly test in (Math 1101) for the second semester of 1433\1434 A.H
Name:                                                                                    ID:                                           .
The first question 
Choose the correct answer of the following:
A. The value of 1.0+( is:
a) 1                                                  b)  0                                          c)   

B. Translate ( 1 . 1 )+=1 into a logical equivalence is:
a) ( T ˅ T ) ˄¬F ≡ T                 b) ( T ˄ T ) ˅¬F ≡ T                 c) ( T ˄ T ) ˅ F ≡ T   

C) The duals of x.(y + 1)
a) x+(y . 1)                                    b)  x+(y . 0)                                 c)  x+(y + 0)

D) A full m – ary tree with i internal vertices contains ……………. Vertices
a) n= mi-1                                     b) n= mi+1                                    c) m= ni+1                                   


Solve The question
1- If K6 , Find number edges ?....................................

2- If G is 4-regualr graph and |V|=6 , Find number edges ? ……………………………


3- How many edges are there in a graph with 5 vertices, each of degree 8 …………………..

The Second question 
Find the outputs of the giving circuit

[image: ]
Find the sum – of – products expansion for the function                   









The third question
Construct circuits that produce the following outputs: 













What are the degrees of the vertices in the graph and is connected 
[image: ]f

The fourth question
Put ( p   ) or (  X ) :
1.The sequence of 3,3,3,3,2,1 is graphic                                                                      (                   )
2. A vertex of degree one is called isolated but a vertex of degree zero is called pendant.      (            )
3. ( T ˄ T ) ˅¬F≡T                                                                                                       (                  )
4. The dual of a Boolean expression is obtained  by interchanging 0 by 1                 (                    )
5. In graph, if edges that connect a vertex to itself are called loops.                                 (                    )
6. A rooted tree is called binary if every internal vertex has m= 2                                    (                    )
Use K-maps to minimize the sum – of – products expansion:


image1.png
o e o

f Appiec i
Pplie
d Studies and Cor uniy 5





image2.png
QBEZBEE=

JIEHB | 2 2 |k

/2|

Tools

Sign

Comment

)

and only if x =

[The cighth question:
1-Find the outputs of the giving circuit:

=
4$Q?;> ’ZDH

2- Find the union of the given pair of simple graphs :

/(\ b % 2
e
b

d

[The ninth question: |[Choose only one of the following questions and then Answer it:

a) Convert 5,1875 to binary system

b) Convert(110.001)._to decimal
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2- A'simple graph is called regular if every vertex of this graph has the same degree. ( )
3- A graph with both directed and undirected edges is called directed multigraphs. ( )

4- A vertex of degree one is called isolated but a vertex of degree zero is called pendant. ( )
5- A full 3-ary tree with 200 internal vertices have 601 vertices ( )

6- Vertices which have children are called internal vertices ( )

7- Translate].0 + (0 + 1): 0, into a logical equivalence is " AF)v—(FvT)=F ( )
8- A rooted tree is called binary if every internal vertex has m=2 ( )

9- The prime implcant of function f =Xyz +XyZ +X yz +x yzis X. ( )

10- The value of 1_0+(0+1):0 ( )

11- The sequence of 3,3,3,3.2 is graphic ( )

[The second question: | In the given graph : b
1- Determine the number of vertices and edges ? ----------------

2- Find the in-degree and out-degree of each vertex for the graph ? d ¢
* in- degree:

* out-degree:.

[The third question:
1-If K¢ Find numberedges ? .....................
2-1f G is 4-regualr graph and IVI=6 , Find number edges ? .
3- How many edges are there in a graph with 5 vertices, each of degree 8 2.

|The fourth question: |  Find the duals of x.(y +0)





